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Q1]...[13 points] Find the coordinates of the points on the ellipse

acQ—I—yZ2 =1
which are farthest from the point (2, 0).
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Q2]. .. [12 points] Express the following limit as a definite integral
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Using whatever method you like, evaluate the definite integral that you obtained above.
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Q3]. .. [12 points] Compute the area of the region between the graph of y = /= and the graph of y = z°.
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Q4]. .. [13 points] Write down a general expression for computing the volume of a 3-dimensional shape

by slicing perpendicular to an axis. R
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Compute the volume of a spherical cap of height R/2 and sphere radius R.
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